Chapter 5

English Syntax I
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%‘A}% ol ;{'].'? Study of sentences and sentence structures

Qo] 23] kAL

< AT FEEoF
S= W1 +(W2+W3.....W_ )
Phrase = W1 + (W2 + W,_...)
Word = Morphemel + (M2 + M,)
Morpheme = Syllablel + (S2 + S,)
Syllable = Phonemel + (P2 +P, )
Phoneme = a bundle phonetic features
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&S H(linear order)
Aed=2 HlwWE g 8elE = UL
¢ was broken; Cows eat grass.
H=0| =&2 20|l S = =X = &=
¢ She the number.
¢ She the number
S0 [l B 208 0~
¢ Doctors rarely visit patients in their homes at
night.

¢ =0- EIESA-SA-AF-ELFA-AZFA!
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APA /SN 373 (1)WHO, JOHN, IS, HELPING

(1) JOHN-WHO-IS-HELPING

a. Who is John helping? &0

| =7& &4 UAsHI?
b. Who is helping John? &7} &5 &1 {USL|7}7?

John is helping who?,

?Is John helping who?
*Helping who John is,
*Helping is John who, etc...

2012/10/30 Prof. Sungshim Hong 5



(2) SAY, MEAN,WHAT.,YO
(3) LWHAT,SAY, DO

(2) SAY-MEAN-WHAT-YOU
a. Say what you mean!
b. Mean what you say!

(3) I-WHAT-SAY-DO
a. Do what I say!
b. Say what I do!
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HE4H (Hierachy)

(X) Psy-felt-a-twinge-in-his-arm

(O) Psy felt a twinge in his arm.
1 2 3 4

¢1- Psy felt a twinge in his arm

¢ ?2- Felt a twinge in his arm

¢3- A twinge in his arm

¢®4- In his arm
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Constituency & constituency test
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[John]

[The man]

[The man with long hair on the corner]

[The man who Mary believed that John claimed that I met at

Harvard in 1995] was my second cousin.

Prof. Sungshim Hong

2012/10/30



&4 U8B (constituency test)

24 A B8 Y (constituency test)0|et 282 HHH RAS0| +
AA0K, 20 UEIUH=E =Y &S B0 26t 2., OITH Al
2r= SHEA2 0 JHXDF O Jisol 0l M2 =3SYE=2
Z0lLHl= A0l SAIESAIS0| ol L=2| ofLE0| Ct.

¢ (1) U4 Xl (substitution)

¢ (2) 0l (movement/displacement)=>» 2 S & H 2

¢ (3) 2AH &g +32 #Xl (adverbial position/insertion)
¢ (4) s?I&E= (coordination)

¢ (5) 209 (theta roles) )| =
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ARl 2 AQNK OtHAIE =0le R4S

ChE 24 = U dolleE o & B

¢ She walked up the hill.(CH X Jts)

¢ She walked in the town. (“in the town”0| CH
INKeI VE=

¢ She looked up the number.(CH XI 2 JI)

# She looked *in the town. (“in the town”
Of tHXl =Jt¢e)
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‘the hill= 2= HXIAIA ZAHUHBAM2 8HAIZ Jis =>

‘up the hill’
She walked up the hill. The hill was very steep.

The hill up which she walked was steep.

‘the numbers 2422 &AX| A4 ZtHCHSE ALS] HEHAF £}
=>

She looked up the number. The nhumber was not listed
in the directory.
*The number up which she looked was not li
directory.
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the number.

slowly
¢ =>‘up the number= +4& A Jt OtLICh

She walked slowly
¢ *She

‘up’2 ‘look
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and

and
¢ => ‘up the number= *& A0t OFLICH

Prof. Sungshim Hong

¢ She walked
¢ *She looked

2012/10/30



o

15t 212 B0l 2Z& QA

C 0
Sl

SII%E O

—)
[ 2RSS
X

Ch
= PEX

S

HU M0 0%

|
]

—

Ol : S Af(noun), S Al (verb), & = At(adjective), & Xl
At (preposition), £ Al (adverb), St& At
(determiner), etc
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= 8 8 = (syntactic category)

O H B K- |I:I-Ix B X N2 X)) H =X
T 0o T. T/ &Y &y =2\ oY) o T

@ Lexical category: noun, verb, adjective,
prepositon, adverbs

“ Functional category: auxiliary,
determiner, quantifier, particle,
conjunction, interjection

0T B> A8 F = HAE, SAE, &KX
M e 28 8 S22 £
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=8 & (tree diagrams)
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The student will stay in the house.

S

Pl

NP, Aux

Y U

Det, N; will V

| | |

The  student stay P NP>

BN

in Det N>

| |

the house
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SEHEHE 2RO WRRX( 25t NBES LIEHY
A Qs e XSS BoU5hD| Sloh ALSSHE 2HAL

®[s [np [The] [student]] [aux Will] [yp
[stay] [pp [ in] [np [the] [house]] ]]]
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=Al, 28, 03 &=
X =

&= = Xl (branch)

HE XIOEE YE A& 2elolH XE HOl & (mother
node). & I* Y% = & & (daughter node)

-

s2ot (0l ZE0l 2ol 2= 2EE== A0 EE
(sister nodes)
=S o JHE 20 = E8e &5 £& (terminal node)
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A 4 (Constituent)

l

820 E = Qs EEE=2 1E8
== 280 2o k& 80| 2= & O 0
ofH, WA S0 =Lt A2 S
EEHOA SAIEJAEH D 2E A0 =
otAl = CI& Z480] 3l00f = lte=
=< U[CR:
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CE0l=sct =8&H /s 1%
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w Xt 2 X K2 (No crossing branches constraint) i}

Hl=8d

* She looked slowly up the number. (slowly=
SAt 2A0IE =2 VPO & & 2= & 0 0F 8tCt.)
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- X HZ(Phrase Structure Rules)

5 2ROl 2= M K PEXN SHS BHRO
2 x A0 Oloh 2rS0fE
Y

=5
SAAE JES SEE £42 IR

2
B

¢ S ->NP (Aux) VP

¢ NP — (Det) (AP) N (XP)

¢ Det — that, then, some, the, a, etc
¢ VP -V (XP)

¢ Aux — (modal) (have) (be) or (do)
¢PP—>P NP
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Fred thinks she will say
nothing.

Fred thinks she will say nothing
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Noun Phrase(NP), Verb Phrase(VP),
Adjective Phrase(AP), Prepositional
Phrase (PP)

ytlz: John, a student, a cocky boy, that lanky old man,

VP: left, left his wife, came, kissed a frog,
gave a big hug to his mother etc.

AP: intelligent, fond of, very interested in,
rather mcompetent so funny etc.

EtE At 5 =2 0
¢ NP — (Det) (AP) N (PP)
¢ AP —(AdvP) A (PP)

¢ VP — V (NP) (NP) (PP)
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23} (Subcategorizaton) 2t & & | 2F(Selectional

Restriction)
HEE: =850 2&0| &D| floid= HF &=0] AtD|
ol =8 H=2 EXE= 20 &2 X0k ot=0dl Ol
shRIZ=0f thet BB B U2 B2l EHNoR 4=
EHH U= 2= HEF(lexicon)ct ) sl
HE 2= =8 8F 20X CHE Al JFHXl O] &He] S ArA
20 A0k tLt.
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HE 2O JtEl SAIE E 8
ot ?l B=3t: SA2| otF =3t AE=2
! o
[—

X
-
=H0JE JA=JE Bledte =8 =

¢a. She doesn’t love Leonardo. (vt.)
¢b.* She doesn’t smile Leonardo. (vi.)

¢a. I shall await your instructions.
¢b. *I shall wait your instructions.
¢C. I shall wait for your instructions.
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I AHE =2 =& 0 NP2 PPIE = L
[ —Lg Srlk.

¢ George placed the card on the table.

¢ *George placed on the table.

¢ *George placed the card.

EtsAJFE0IA =80 NP LE S
Jelte otel =t AHEZ 2= &= UL

¢ Believe_ NP/S; hit._NP/*S

30
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come ace believe
NP

[+  NP#] [+ NP PP#] [--L__{

S
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SAIS ES0H &4

0) vanish The child vanished .

NP prove The professor proved [the
theorem].

AP become The man became [very angry].

PP dash  The dog dashed [to the door].

NP PP, o]0)Y% We bought [a hat] [for Andy].
NP PP;, PP ,,open We opened [the door] [for Andy]
[with a key].

2012/10/30 Prof. Sungshim Hong 32



& EH T ©F (Selectional Restriction)

H=2F= &8 M (20]/=2tE8 )= AL
¢ Tony has convinced my mother.

¢ ?Tony has convinced my goldfish.

¢ ??Tony has convinced my computer.

¢ !'Tony has convinced my birth.

¢ My mother fainted.
¢ ?! My frying pan fainted.
¢ 'My theory fainted.
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M H OF Dt =8

o

ot F&0HAM sSAl= M=0 0] oHEol ! =02 &
He =20| EH A=He AHAC =st= MEHSHL,
¢ murder

[+V]: =8 B+

[+ NP#]: ol9l =35

<HUMAN HUMAN> : & 7 K| ©F
I'The tiger murdered the man.

I'The elephant murdered the rock.
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syntaxel] g | F71x] o] A S &A= 3.

-ZO0{S= SO (W)==Z :r“éS', ThO1 (W)= AR (Lexicon)Of ':XH
-tt0l= 7H(Phrase)S O|FX| T, 7+ (Phrase)= A0 @HEH UK H5.

2(Phrase)8 TAIE & 9 B20| Bixjo] S2e (1) 7 X 74
(Phrase-structure Rules) EE= (2) & A= T Al(X-bar schema)(| 2|t

APE+ T REE FEE £ e JA (+5HHF3
(subcategorization) i MEHX| 2% X (selectional restriction) )
=> Q0ojo| 7|22 At

Ll

DE FO|Sk 1 7|E B (+ HHIH)

HH A 0] ZHi M A

|2E2%&2 7|7 =x (Deep structure)2 £ E{, Bt
|= =ddol= EH P X Surface structurect 22
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=2 d (ambiguity)2 X &= i Ol &0IGHA dAHLIE &

H2H =24 (lexical ambiguity)
¢ This will make you

¢ He met her by the

¢ She can’t children

AN SO A (structural ambiguity)

¢ Stray [cats and dogs] or [Stray cats] and [dogs]
¢ Visiting relatives can be boring.

¢ I saw her duck.

¢ The man killed the king with a knife.(=&% & 1)
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The man killed Det N P The man killed Det N PP

ll\N HVAN

the king with ~ aknife * the king withaknife
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